# Anju Mehto

From: Amol Punde Tuesday, December 3, 2024 12:36 PM Sent: To: Anju Mehto Cc: Saurav Pillai; Shalini Singh **Subject:** FW: Requesting approval for installation of dishwasher dosing pump-Capex(QA requirement) **Attachments:** COPPER CHIMNEY -114.pdf; RE: Poor service response from Technosteel India; COPPER CHIMNEY KALA GHODA - 085.pdf Dear Anju, Please raise PR. Dear Sauray, Keeping you informed. Dear Shalini, Keeping you in loop to know about progress. Regards, Amol From: Reetesh Shukla <reetesh.shukla@charcoalconcepts.com> Sent: Tuesday, December 3, 2024 12:31 PM To: Amol Punde <amol.punde@charcoalconcepts.com> Cc: Mithilesh Kumar <mithilesh.kumar@copperchimney.in> Subject: FW: Requesting approval for installation of dishwasher dosing pump-Capex(QA requirement) Hi Amol – Please proceed. Best, Reetesh From: Amol Punde <amol.punde@charcoalconcepts.com> Sent: 03 December 2024 11:09 To: Reetesh Shukla <reetesh.shukla@charcoalconcepts.com> Subject: FW: Requesting approval for installation of dishwasher dosing pump-Capex(QA requirement) Dear Sir, Requesting approval for capex expenditure of INR.1,98,712/- for installation of dosing pump for 8 units of dishwasher

and glass washer at Copper chimney outlets.

The dosing pump is necessary for chemical wash of plates and glass. We were trying to avail the same with the original supplier "techno steel" but the response from their end is not positive (communication attached).

Hence other vendor has been identified.

**Note :-** We had approached washmatic for the support but they are not providing services for other makes, hence **AAKASH INTERNATIONAL** is been selected as they are ready to do installation and provide service for Electrolux, Ecomax, Whirlpool, Zanussi.

Cost negotiated from INR 9850/- to 9400/- per unit for rise and chemical dispenser and Installation negotiated from INR 2000/- to 1500/- per site

#### Sites were installation is needed:-

Site	Glasswasher	Dishwasher
CC Worli	whirlpool	ecomax
сс кн	ecomax	Electrolux
CC Seawoods	Electrolux	NA
CC Juhu	zanussi	NA
СС ВКС	Electrolux	NA
CC Viviana	Electrolux	NA

## Cost Break-up :-

Work Description	Qty	Rate	Amount	<b>GST Amount</b>	Total
Dispensor for Rinse and Dispensor for chemical.	16	9400	150400	27072	177,472.00
Liquid tube and cable	8	750	6000	1080	7,080.00
Installation	8	1500	12000	2160	14,160.00
Grand total				198,712.00	

Regards, Amol

From: Mithilesh Kumar < mithilesh.kumar@copperchimney.in >

Sent: Monday, December 2, 2024 1:53 PM

To: Amol Punde <amol.punde@charcoalconcepts.com>

**Cc:** Saurav Pillai < <a href="mailto:saurav.pillai@copperchimney.in">saurav.pillai@copperchimney.in</a>>; Shalini Singh < <a href="mailto:shalini.singh@copperchimney.in">shalini.singh@copperchimney.in</a>> **Subject:** FW: Requesting approval for installation of dishwasher dosing pump-Capex(QA requirement)

Please proceed from my end.

Warm Regards,

Mithilesh.

From: Amol Punde <amol.punde@charcoalconcepts.com>

Sent: Monday, December 2, 2024 11:27 AM

To: Mithilesh Kumar < mithilesh.kumar@copperchimney.in>

**Cc:** Saurav Pillai < <u>saurav.pillai@copperchimney.in</u>>; Shalini Singh < <u>shalini.singh@copperchimney.in</u>> **Subject:** RE: Requesting approval for installation of dishwasher dosing pump-Capex(QA requirement)

Dear Sir,

This is pending with you.

Regards, Amol

From: Amol Punde

Sent: Monday, November 25, 2024 2:12 PM

To: Mithilesh Kumar <mithilesh.kumar@copperchimney.in>

**Cc:** Saurav Pillai < <a href="mailto:saurav.pillai@copperchimney.in">subject: RE: Requesting approval for installation of dishwasher dosing pump-Capex(QA requirement)</a>

Dear Sir,

Requesting approval for capex expenditure of INR.1,98,712/- for installation of dosing pump for 8 units of dishwasher and glass washer at Copper chimney outlets.

The dosing pump is necessary for chemical wash of plates and glass. We were trying to avail the same with the original supplier "techno steel" but the response from their end is not positive (communication attached). Hence other vendor has been identified.

**Note :-** We had approached washmatic for the support but they are not providing services for other makes, hence **AAKASH INTERNATIONAL** is been selected as they are ready to do installation and provide service for Electrolux, Ecomax, Whirlpool, Zanussi.

Cost negotiated from INR 9850/- to 9400/- per unit for rise and chemical dispenser and Installation negotiated from INR 2000/- to 1500/- per site

#### Sites were installation is needed:-

Site	Glasswasher	Dishwasher
CC Worli	whirlpool	ecomax
СС КН	ecomax	Electrolux
CC Seawoods	Electrolux	NA
CC Juhu	zanussi	NA
CC BKC	Electrolux	NA
CC Viviana	Electrolux	NA

#### Cost Break-up:-

Work Description	Qty	Rate	Amount	GST Amount	Total
Dispensor for Rinse and Dispensor for chemical.	16	9400	150400	27072	177,472.00
Liquid tube and cable	8	750	6000	1080	7,080.00
Installation	8	1500	12000	2160	14,160.00
Grand total				198,712.00	

Regards, Amol

From: Saurav Pillai <saurav.pillai@copperchimney.in>

Sent: Monday, November 25, 2024 2:07 PM

**To:** Amol Punde <amol.punde@charcoalconcepts.com>

Subject: Requesting approval for installation of dishwasher dosing pump-Capex

Dear Sir,

Requesting approval for capex expenditure of INR.1,98,712/- for installation of dosing pump for 8 units of dishwasher and glass washer at Copper chimney outlets.

The dosing pump is necessary for chemical wash of plates and glass. We were trying to avail the same with the original supplier "techno steel" but the response from their end is not positive (*communication attached*). Hence other vendor has been identified.

**Note :-** We had approached washmatic for the support but they are not providing services for other makes, hence **AAKASH INTERNATIONAL** is been selected as they are ready to do installation and provide service for Electrolux, Ecomax, Whirlpool, Zanussi.

Cost negotiated from INR 9850/- to 9400/- per unit for rise and chemical dispenser and Installation negotiated from INR 2000/- to 1500/- per site

# Sites were installation is needed:-

Site	Glasswasher	Dishwasher
CC Worli	whirlpool	ecomax
СС КН	ecomax	Electrolux
CC Seawoods	Electrolux	NA
CC Juhu	zanussi	NA
СС ВКС	Electrolux	NA
CC Viviana	Electrolux	NA

## Cost Break-up:-

Work Description	Qty	Rate	Amount	GST Amount	Total
Dispensor for Rinse and Dispensor for chemical.	16	9400	150400	27072	177,472.00
Liquid tube and cable	8	750	6000	1080	7,080.00
Installation	8	1500	12000	2160	14,160.00
Grand total				198,712.00	

Regards, Saurav Pillai